Algebra2  Bellwork  Friday, November 13, 2015

1. Write the equation of each quadratic in Vertex Form.
a. b.

(1,9)
(-4,12)

(-3.7)
(-21 5)

2. Write the equation of this quadratic in Standard Form.

2. A company wants to minimize the amount of wasted material when it manufactures their product. To
do this they plan on operating more machines. The following equation models the amount of wasted
material in pounds as a function of the number of machines being operated: W(m) = -0.4m? +7.2m +13.7

a) What is the minimum amount of waste the company can produce?

b) How many machines will minimize this waste?
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